	Please Read These Instructions



	The graph on the right is known as a survival curve. It shows the chances of survival after medical treatment. In order to draw a survival curve, doctors must follow a group of patients and keep track of how many are alive and how many are dead at different points in time.

The numbers on the vertical axis show the number of patients out of 100 who are alive.

The numbers on the horizontal axis show the number of years that have passed since the start of treatment.

In this example, after 9 years there are 40 out of 100 patients alive.

Therefore, 60 out of 100 patients are dead after 9 years.

The arrows that have been added to the graph show how to work this out.

After 5 years, slightly more than 70 out of 100 patients are alive (72 to be exact).

Therefore, slightly fewer than 30 out of 100 patients are dead after 5 years (28 to be exact)

Please take a look at the graph and check that you can see that this is the case. 
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	The same system can also be used to focus on the chances of other “events” or “outcomes” – not just on the chances of survival alone. For instance, this graph on the right shows the chances of being alive and well after medical treatment.

You can use the graph to find out when exactly half of the patients (50 out of 100) are alive and well.

The arrows that have been added to the graph show you that this occurs 4 years after the start of treatment.

You can also use the graph to focus on the change in the number of patients who are alive and well. Between 4 years and 7 years after the start of treatment the number of patients who are alive and well drops from 50 to 30 patients out of 100. This is a decrease of 20 patients.

Please take a look at the graph and check that you can see that this is the case.  
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	Instructions continued


	

	Sometimes two survival curves are shown on the same graph. The graph on the right shows the chances of survival over time for two treatments. The blue line shows the results for Treatment A. The orange line shows the results for Treatment B.

One year after the start of treatment, 80 out of 100 patients are alive with Treatment A.

Therefore, 20 out of 100 patients are dead after 1 year with Treatment A.

One year after the start of treatment, 90 out of 100 patients are alive with Treatment B.

Therefore, 10 out of 100 patients are dead after 1 year with Treatment B. 

Check that you can see that this is the case.
Nine years after the start of treatment, Treatment A has between 40 and 50 patients alive out of 100 (44 to be exact).

Therefore, between 50 and 60 patients are dead after 9 years with Treatment A (56 to be exact).  

The graph shows that, 6 years after the start of treatment, more patients (out of 100) are alive with Treatment B than with Treatment A. Therefore, more patients (out of 100) are dead after 6 years with Treatment A than with Treatment B. 
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	Thank you for reading these instructions.

Some more graphs are shown over the page. There are also some questions that we would like you to answer.


